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Preliminary note:
The Message Definition Report (MDR) is made of three parts:
MDR Part 1 
This describes the contextual background required to understand the functionality of the proposed message set. Part 1 is produced by the submitting organisation that developed or maintained the message set in line with a MDR Part1 template provided by the ISO 20022 Registration Authority (RA) on www.iso20022.org
MDR Part 2 
This is the detailed description of each message definition of the message set. Part 2 is produced by the RA using the model developed by the submitting organisation.
MDR Part 3 
This is an extract of the ISO 20022 Business Model describing the business concepts used in the message set. Part 3 is an Excel document produced by the RA.
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[bookmark: _Toc116962860][bookmark: _Toc146690773][bookmark: _Toc526925912] Introduction
[bookmark: _Toc526925913][bookmark: _Toc116962861][bookmark: _Toc146690774]Terms and definitions
The following terms are reserved words defined in ISO 20022 – Part1. When used in this document, they will follow the UpperCamelCase notation.

	Term
	Definition

	BusinessRole
	Functional role played by a business actor in a particular BusinessProcess or BusinessTransaction.

	Participant
	Involvement of a BusinessRole in a BusinessTransaction.

	BusinessProcess
	Unrealized definition of the business activities undertaken by BusinessRoles within a BusinessArea whereby each BusinessProcess fulfils one type of business activity and whereby a BusinessProcess may include and extend other BusinessProcesses.

	BusinessTransaction
	Particular solution that meets the communication requirements and the interaction requirements of a particular BusinessProcess and BusinessArea.

	MessageDefinition
	Formal description of the structure of a MessageInstance.


[bookmark: _Toc526925914]Glossary
[bookmark: _Toc116962862]The following is a list of abbreviations and acronyms used in the document.

	Abbreviation/ Acronym
	Definition

	BAH
	Business Application Header

	CSDR
	Central Securities Depositories Regulation (Regulation (EU) No 909/2014)

	CA
	Competent Authority

	EEA 
	European Economic Area

	ESMA
	European Securities and Markets Authority

	EU
	European Union

	NCA
	National Competent Authority

	SA 
	Supervisory Authority

	SEG
	Standards Evaluation Group

	SWIFT
	Society for Worldwide Interbank Financial Telecommunication

	TC
	Third Country





[bookmark: _Toc146690778][bookmark: _Toc526925915]Document Scope and Objectives
[bookmark: OLE_LINK1][bookmark: OLE_LINK2]This document is the first part of the ISO 20022 Message Definition Report (MDR) that describes the BusinessTransactions and underlying message set. For the sake of completeness, the document may also describe BusinessActivities that are not in the scope of the project.
This document sets:
· The BusinessProcess scope (business processes addressed or impacted by the project)
· The BusinessRoles involved in these BusinessProcesses

The main objectives of this document are:
· To explain what BusinessProcesses and BusinessActivities these MessageDefinitions have addressed
· To give a high level description of BusinessProcesses and the associated BusinessRoles
· To document the BusinessTransactions and their Participants (sequence diagrams) 
· To list the MessageDefinitions 
[bookmark: _Target_audience][bookmark: _Toc338423620][bookmark: _Toc116962865][bookmark: _Toc146690781][bookmark: _Toc526925916]References

	Document
	Version
	Date
	Author

	Regulation (EU) No 909/2014 of the European Parliament and of the Council of 23 July 2014 on improving securities settlement in the European Union and on central securities depositories and amending Directives 98/26/EC and 2014/65/EU and Regulation (EU) No 236/2012
	N/A
	2014-07-23
	European Parliament and Council

	Commission Delegated Regulation (EU) 2017/391
	N/A
	2016-11-11
	European Commission

	Commission Implementing Regulation (EU) 2017/393
	N/A
	2016-11-11
	European Commission

	Guidelines on Internalised Settlement Reporting under Article 9 of CSDR
	N/A
	2018-03-28
	ESMA
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[bookmark: _Toc526925917]Scope and Functionality
[bookmark: _Toc526925918]Scope
This Message Definition Report covers the first of a set of three (3) ISO 20022 MessageDefinitions developed by European Securities and Markets Authority (ESMA) in close collaboration with SWIFT and submitted to the approval of the ISO 20022 Securities Standards Evaluation Group (SEG). These MessageDefinitions are designed to support the reporting of internalised settlement data, and settlements fails data. The present MDR relates to the internalised settlement report and a second MessageDefinition will be submitted at a later stage.
With respect to Internalised Settlement reporting, in accordance with Regulation (EU) No 909/2014[footnoteRef:2] settlement internalisers and competent authorities are to report and transmit information on internalised settlements using standard forms, templates and procedures. According to Article 9(1) of CSDR, settlement internalisers shall report to the competent authorities of their place of establishment on a quarterly basis the aggregated volume and value of all securities transactions that they settle outside securities settlement systems. Competent authorities shall, without delay, transmit the information received to ESMA. ESMA has consequently decided to build an IT System composed of a database allowing receiving internalised settlement data from CAs in the ISO 20022 format.  [2:  https://eur-lex.europa.eu/legal-content/EN/TXT/?uri=OJ:JOL_2014_257_R_0001] 

[bookmark: _Toc526925919]MessageDefinitions and Functionality
The CSDR Internalised Settlement and Settlement Fails Reporting business flows may be detailed into two major parts:
· Collection of internalised settlement data
· Collection of Settlement fails data
The following types of messages that are exchanged:
· Internalised Settlement data reporting message
· Settlement Fails data reporting messages (to be submitted at a later stage)
· Status advice (feedback) message
These messages are to be used with the ISO 20022 Business Application Header (head.001). The schema and more information about the Business Application Header (BAH) can be found on the www.iso20022.org web site
[bookmark: _Toc526925920]Internalised Settlement Data Reporting Message
Each reporting agent within the scope of Article 9(1) of CSDR must report internalised settlement data on a quarterly basis. The reports on internalised settlements provide detailed information on the aggregated volume and value of settlement instructions settled by settlement internalisers outside securities settlement systems, specifying, inter alia:
· Asset class (Type of financial instruments)
· Type of securities transactions
· Type of clients
· Issuer CSDs
The internalised settlement reporting message has been developed both to meet the CSR requirements and also to be generic so that they can be used by similar regulations in use by others. Where something is specific to CSDR, a usage guideline has been defined to specify the CSDR specific requirement.
The Internalised Settlement data reporting message is used to collect the aggregated information (volume and value) on internalised settlement instructions (settled and failed).

	MessageDefinition
	Message Identifier

	Settlement Internaliser Report
	auth.072


[bookmark: _Toc526925921]Settlement Fails Data Reporting Messages
To support settlement fails data, two messages will be required. These messages are still in development and will be included during a second phase.

	MessageDefinition
	Message Identifier

	To be defined
	


[bookmark: _Toc526925922]Other Messages
To support internalised settlement data reporting, the following ISO message will be used, i.e., feedback on the above submitted data, as well as associated reference information to be provided by the ESMA to National Competent Authorities:

	MessageDefinition
	Message Identifier

	Financial Instrument Reporting Status Advice
	auth.031


Please note that auth.031 has been submitted as part of the Financial Instruments and Transactions Regulatory Reporting (Trade Repository Reporting) message set.


[bookmark: _Toc526925923]BusinessRoles and Participants
A BusinessRole represents an entity (or a class of entities) of the real world, physical or legal, a person, a group of persons, a corporation. Examples of BusinessRoles: “Financial Institution”, “ACH”, “CSD”.
A Participant is a functional role performed by a BusinessRole in a particular BusinessProcess or BusinessTransaction: for example the “user” of a system, “debtor”, “creditor”, “investor” etc. 
The relationship between BusinessRoles and Participants is many-to-many. One BusinessRole (that is, a person) can be involved as different Participants at different moments in time or at the same time: "user", "debtor”, "creditor", "investor", etc. Different BusinessRoles can be involved as the same Participant.
In the context of the Internalised Settlement reporting, the high-level BusinessRoles and typical Participants can be represented as follows.
[image: ]
[bookmark: _Toc468890014][bookmark: _Toc526925924]Participants and BusinessRoles Definitions
Internalised Settlement Data
	Participants and BusinessRoles definitions

	Description
	Definition

	Participants

	Reporting Entity
	Any entity that has to report under the scope of Article 9(1) of CSDR. This data is reported through the responsible CA.

	Competent Authority
	Entity which regulates reporting entities and collects and transmits data to ESMA.

	Supervisory Authority
	Entity which collects and validates data from all competent authorities.

	BusinessRoles

	ESMA
	European Securities and Markets Authority. A Supervisory Authority performing regulatory tasks.

	NCA
	National Competent Authority Competent Authority designated by each Member State in accordance with Article 11 of CSDR.

	Settlement Internaliser
	Entity for which data is reported.



[bookmark: _Toc468890015][bookmark: _Toc526925925]BusinessRoles and Participants Table

	BusinessRoles \ Participants
	Reporting Entity
	Competent Authority
	Supervisory Authority

	ESMA
	
	
	X

	NCA
	
	X
	

	Settlement Internaliser
	X
	
	


[bookmark: _Ref373494120][bookmark: _Toc526925926]BusinessProcess Description
This diagram depicts the high level BusinessProcesses covered by this project. The aim of the below is to describe the high-level scope of the project, not to be exhaustive.

[image: ]

Internalised Settlement data submission
	Item
	Description

	Definition
	A Reporting Entity must submit aggregated information  on  all  securities  transactions  that  have been  settled  outside  securities  settlement systems, on a quarterly basis. The report contains aggregated information on the value and volume of all internalised settlement instructions (settled and failed) that have been performed during the period covered by the report, for financial instruments, types of transactions, types of clients and cash transfers.

	Trigger
	Data is submitted quarterly. 

	Pre-conditions
	Settled/ Failed transactions have been executed outside securities settlement systems.

	Post-conditions
	The Reporting Entity has received a status advice related to the internalised settlement report message.

	Role
	Reporting Entity




[bookmark: _Toc526925927]Description of Business Activities
This section presents the different BusinessActivities within each BusinessProcess. BusinessActivities of a process are described in swim lane diagrams and are referred in this document as activity diagrams.
The development of an activity diagram is part of the ISO 20022 modelling process and allows capturing the requirements.
The activity diagram provides a zoom-in on the BusinessActivities taking place during each of the BusinessProcesses described in Section 4. It also shows the BusinessActivities that are triggered when another BusinessActivity has a negative result.
What is the activity diagram about?
· It is a diagram representing the ‘common lifecycle’ of a BusinessProcess
· A start point  shows where the lifecycle of the BusinessProcess commences and the end points show [image: End point] where the lifecycle may possibly end
· A lozenge      means that a choice between several actions can be made
· A bar [image: ]means that several actions are initiated in parallel
· The flow of activities between the involved Participants (parties)
· BusinessActivities may result in different actions, that is, information is conveyed from one party to another party.
Both in-scope and out-of-scope activities are included, with a different level of details. There are no information requirements for out-of-scope activities, except that they should be clearly identified in the diagram.
Activity diagrams are always accompanied with a text describing the BusinessActivities and their interactions.
[bookmark: _Toc526925928]Internalised Settlement Reporting
 [image: ]



	Description of the BusinessActivities

	
	Initiator

	Reporting Entity generates the Internalised Settlement report and submits it to the CA
	Reporting Entity

	Competent Authority receives the Internalised Settlement report.
	Competent Authority

	Competent Authority submits the Internalised Settlement report to SA.
	Competent Authority

	Supervisory Authority validates the Internalised Settlement report and generates a Status Advice: Each received Internalised Settlement report is validated against: 
completeness and soundness of message
previously submitted data
Once validation checks are complete, SA generates the status advice file as a response to the respective CA.
	Supervisory Authority

	Competent Authority receives status advice message.
	Competent Authority

	Competent Authority transfers status advice to RE.
	Competent Authority

	Reporting Entity receives status advice message.
	Reporting Entity

	Corrective action: when one or more issues have been identified, the respective data violating the Supervisory Authority validation rules must be rectified and an updated Internalised Settlement report must be re-submitted.
	Reporting Entity


[bookmark: _Toc526925929]Settlement Fails Reporting
The Business Activities for Settlement Fails reporting are under analysis and will be included in a second phase.


[bookmark: _Toc526925930]BusinessTransactions
[bookmark: _Toc447529651][bookmark: _Toc447530826][bookmark: _Toc447531267][bookmark: _Toc449841187][bookmark: _Toc449841430][bookmark: _Toc450819670][bookmark: _Toc450974818][bookmark: _Toc450979706][bookmark: _Toc450980147][bookmark: _Toc451158661]This section describes the message flows based on the activity diagrams documented above. It shows the typical exchanges of information in the context of a BusinessTransaction.
For Internalised Settlement data reporting, the Reporting Entity has to work with their Competent Authority to route data to the Supervisory Authority. In this context, the CA acts as a routing mechanism (proxy) between the RE and the SA.
The flow below describes an RE submitting Internalised Settlement Data Reporting to the SA via a CA. The CA receives the report from the RE and transfers it to the SA. The SA is expected to complete validation checks. For all submissions, the respective CA shall receive a Status Advice detailing the results from the validation checks performed by the SA, including detailed information in case that validation checks fail. 
[image: ]

[bookmark: _Toc259630496][bookmark: _Toc373227232][bookmark: _Toc373486623]

[bookmark: _Toc526925931]Examples
This section describes a business examples of the various MessageDefinitions. 
[bookmark: _Toc526925932]Internalised Settlement Data
Description
This section describes a business example of the auth.072.001.01 MessageDefinition. This example describes an Internalised Settlement Report sent by a Settlement Internaliser submitted by the FR NCA for internalised settlement data of a Settlement Internaliser established in France reporting internalised settlement data for its own operation. In particular:
· Reporting entity LEI: O2RNE8IBXP4R0TD8XM41
· Responsible Competent Authority: FR NCA
· Settlement Internaliser place of establishment (Country Code): FR
Message Instance

<SttlmIntlrRpt>
    <RptHdr>
        <CreDtTm>2006-07-04T18:13:51.0</CreDtTm>
        <RptgDt>2018-06-30</RptgDt>
        <Ccy>EUR</Ccy>
        <RptSts>NEWT</RptSts>
    </RptHdr>
    <SttlmIntlr>
        <Id>
            <LEI>O2RNE8IBXP4R0TD8XM41</LEI>
            <RspnsblPrsn>
                <Nm>John Smith</Nm>
                <PhneNb>+33-140978989</PhneNb>
                <EmailAdr>john.smith@abc.com</EmailAdr>
                <Fctn>Senior Analyst</Fctn>
            </RspnsblPrsn>
            <Ctry>FR</Ctry>
        </Id>
            <OvrllTtl>
                <Aggt>
                    <Sttld>
                        <Vol>16517</Vol>
                        <Val>253265</Val>
                    </Sttld>
                    <Faild>
                        <Vol>3618</Vol>
                        <Val>0</Val>
                    </Faild>
                    <Ttl>
                        <Vol>20135</Vol>
                        <Val>253265</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>17.968710000</VolPctg>
                    <Val>0.0000000000</Val>
                </FaildRate>
            </OvrllTtl>
        <FinInstrm>
            <Eqty>
                <Aggt>
                    <Sttld>
                        <Vol>818</Vol>
                        <Val>26183</Val>
                    </Sttld>
                    <Faild>
                        <Vol>192</Vol>
                        <Val>0</Val>
                    </Faild>
                    <Ttl>
                        <Vol>1010</Vol>
                        <Val>26183</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>19.009900000</VolPctg>
                    <Val>0.0000000000</Val>
                </FaildRate>
            </Eqty>
            <SvrgnDebt>
                <Aggt>
                    <Sttld>
                        <Vol>723</Vol>
                        <Val>12933</Val>
                    </Sttld>
                    <Faild>
                        <Vol>182</Vol>
                        <Val>0</Val>
                    </Faild>
                    <Ttl>
                        <Vol>905</Vol>
                        <Val>12933</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>20.110500000</VolPctg>
                    <Val>0.0000000000</Val>
                </FaildRate>
            </SvrgnDebt>
            <Bd>
                <Aggt>
                    <Sttld>
                        <Vol>942</Vol>
                        <Val>14206</Val>
                    </Sttld>
                    <Faild>
                        <Vol>168</Vol>
                        <Val>0</Val>
                    </Faild>
                    <Ttl>
                        <Vol>1110</Vol>
                        <Val>14206</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>15.135130000</VolPctg>
                    <Val>0.0000000000</Val>
                </FaildRate>
            </Bd>
            <OthrTrfblScties>
                <Aggt>
                    <Sttld>
                        <Vol>1829</Vol>
                        <Val>23314</Val>
                    </Sttld>
                    <Faild>
                        <Vol>231</Vol>
                        <Val>0</Val>
                    </Faild>
                    <Ttl>
                        <Vol>2060</Vol>
                        <Val>23314</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>11.213590000</VolPctg>
                    <Val>0.0000000000</Val>
                </FaildRate>
            </OthrTrfblScties>
            <XchgTradgFnds>
                <Aggt>
                    <Sttld>
                        <Vol>1060</Vol>
                        <Val>13590</Val>
                    </Sttld>
                    <Faild>
                        <Vol>173</Vol>
                        <Val>0</Val>
                    </Faild>
                    <Ttl>
                        <Vol>1233</Vol>
                        <Val>13590</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>14.030820000</VolPctg>
                    <Val>0.0000000000</Val>
                </FaildRate>
            </XchgTradgFnds>
            <CllctvInvstmtUdrtkgs>
                <Aggt>
                    <Sttld>
                        <Vol>1612</Vol>
                        <Val>16328</Val>
                    </Sttld>
                    <Faild>
                        <Vol>201</Vol>
                        <Val>0</Val>
                    </Faild>
                    <Ttl>
                        <Vol>1813</Vol>
                        <Val>16328</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>11.086600000</VolPctg>
                    <Val>0.0000000000</Val>
                </FaildRate>
            </CllctvInvstmtUdrtkgs>
            <MnyMktInstrm>
                <Aggt>
                    <Sttld>
                        <Vol>936</Vol>
                        <Val>14582</Val>
                    </Sttld>
                    <Faild>
                        <Vol>200</Vol>
                        <Val>0</Val>
                    </Faild>
                    <Ttl>
                        <Vol>1136</Vol>
                        <Val>14582</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>17.605630000</VolPctg>
                    <Val>0.0000000000</Val>
                </FaildRate>
            </MnyMktInstrm>
            <EmssnAllwnc>
                <Aggt>
                    <Sttld>
                        <Vol>1133</Vol>
                        <Val>16446</Val>
                    </Sttld>
                    <Faild>
                        <Vol>204</Vol>
                        <Val>0</Val>
                    </Faild>
                    <Ttl>
                        <Vol>1337</Vol>
                        <Val>16446</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>15.258040000</VolPctg>
                    <Val>0.0000000000</Val>
                </FaildRate>
            </EmssnAllwnc>
            <OthrFinInstrms>
                <Aggt>
                    <Sttld>
                        <Vol>854</Vol>
                        <Val>14528</Val>
                    </Sttld>
                    <Faild>
                        <Vol>168</Vol>
                        <Val>0</Val>
                    </Faild>
                    <Ttl>
                        <Vol>1022</Vol>
                        <Val>14528</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>16.438360000</VolPctg>
                    <Val>0.0000000000</Val>
                </FaildRate>
            </OthrFinInstrms>
        </FinInstrm>
        <TxTp>
            <SctiesBuyOrSell>
                <Aggt>
                    <Sttld>
                        <Vol>1349</Vol>
                        <Val>16337</Val>
                    </Sttld>
                    <Faild>
                        <Vol>257</Vol>
                        <Val>0</Val>
                    </Faild>
                    <Ttl>
                        <Vol>1606</Vol>
                        <Val>16337</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>16.002490000</VolPctg>
                    <Val>0.0000000000</Val>
                </FaildRate>
            </SctiesBuyOrSell>
            <CollMgmtOpr>
                <Aggt>
                    <Sttld>
                        <Vol>381</Vol>
                        <Val>13285</Val>
                    </Sttld>
                    <Faild>
                        <Vol>198</Vol>
                        <Val>0</Val>
                    </Faild>
                    <Ttl>
                        <Vol>579</Vol>
                        <Val>13285</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>34.196890000</VolPctg>
                    <Val>0.0000000000</Val>
                </FaildRate>
            </CollMgmtOpr>
            <SctiesLndgOrBrrwg>
                <Aggt>
                    <Sttld>
                        <Vol>1325</Vol>
                        <Val>15112</Val>
                    </Sttld>
                    <Faild>
                        <Vol>690</Vol>
                        <Val>0</Val>
                    </Faild>
                    <Ttl>
                        <Vol>2015</Vol>
                        <Val>15112</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>34.243180000</VolPctg>
                    <Val>0.0000000000</Val>
                </FaildRate>
            </SctiesLndgOrBrrwg>
            <RpAgrmt>
                <Aggt>
                    <Sttld>
                        <Vol>776</Vol>
                        <Val>13284</Val>
                    </Sttld>
                    <Faild>
                        <Vol>195</Vol>
                        <Val>0</Val>
                    </Faild>
                    <Ttl>
                        <Vol>971</Vol>
                        <Val>13284</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>20.082390000</VolPctg>
                    <Val>0.0000000000</Val>
                </FaildRate>
            </RpAgrmt>
            <OthrTxs>
                <Aggt>
                    <Sttld>
                        <Vol>774</Vol>
                        <Val>13565</Val>
                    </Sttld>
                    <Faild>
                        <Vol>178</Vol>
                        <Val>0</Val>
                    </Faild>
                    <Ttl>
                        <Vol>952</Vol>
                        <Val>13565</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>18.697480000</VolPctg>
                    <Val>0.0000000000</Val>
                </FaildRate>
            </OthrTxs>
        </TxTp>
        <ClntTp>
            <Prfssnl>
                <Aggt>
                    <Sttld>
                        <Vol>889</Vol>
                        <Val>12891</Val>
                    </Sttld>
                    <Faild>
                        <Vol>200</Vol>
                        <Val>0</Val>
                    </Faild>
                    <Ttl>
                        <Vol>1089</Vol>
                        <Val>12891</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>18.365470000</VolPctg>
                    <Val>0.0000000000</Val>
                </FaildRate>
            </Prfssnl>
            <Rtl>
                <Aggt>
                    <Sttld>
                        <Vol>1116</Vol>
                        <Val>16681</Val>
                    </Sttld>
                    <Faild>
                        <Vol>181</Vol>
                        <Val>0</Val>
                    </Faild>
                    <Ttl>
                        <Vol>1297</Vol>
                        <Val>16681</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>13.955280000</VolPctg>
                    <Val>0.0000000000</Val>
                </FaildRate>
            </Rtl>
        </ClntTp>
            <TtlCshTrf>
                <Aggt>
                    <Sttld>
                        <Vol>1744</Vol>
                        <Val>14909</Val>
                    </Sttld>
                    <Faild>
                        <Vol>175</Vol>
                        <Val>0</Val>
                    </Faild>
                    <Ttl>
                        <Vol>1919</Vol>
                        <Val>14909</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>9.1193330000</VolPctg>
                    <Val>0.0000000000</Val>
                </FaildRate>
            </TtlCshTrf>
    </SttlmIntlr>
    <IssrCSD>
        <Id>
            <LEI>O2RNE8IBXP4R0TA8XM41</LEI>
            <FrstTwoCharsISIN>FR</FrstTwoCharsISIN>
            <Ctry>FR</Ctry>
        </Id>
            <OvrllTtl>
                <Aggt>
                    <Sttld>
                        <Vol>1801</Vol>
                        <Val>17945</Val>
                    </Sttld>
                    <Faild>
                        <Vol>353</Vol>
                        <Val>3510</Val>
                    </Faild>
                    <Ttl>
                        <Vol>2154</Vol>
                        <Val>21455</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>16.388110000</VolPctg>
                    <Val>16.359820000</Val>
                </FaildRate>
            </OvrllTtl>
        <FinInstrm>
            <Eqty>
                <Aggt>
                    <Sttld>
                        <Vol>15</Vol>
                        <Val>6000</Val>
                    </Sttld>
                    <Faild>
                        <Vol>2</Vol>
                        <Val>200</Val>
                    </Faild>
                    <Ttl>
                        <Vol>17</Vol>
                        <Val>6200</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>11.764710000</VolPctg>
                    <Val>3.2258060000</Val>
                </FaildRate>
            </Eqty>
            <SvrgnDebt>
                <Aggt>
                    <Sttld>
                        <Vol>2</Vol>
                        <Val>200</Val>
                    </Sttld>
                    <Faild>
                        <Vol>0</Vol>
                        <Val>0</Val>
                    </Faild>
                    <Ttl>
                        <Vol>2</Vol>
                        <Val>200</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>0.0000000000</VolPctg>
                    <Val>0.0000000000</Val>
                </FaildRate>
            </SvrgnDebt>
            <Bd>
                <Aggt>
                    <Sttld>
                        <Vol>19</Vol>
                        <Val>300</Val>
                    </Sttld>
                    <Faild>
                        <Vol>1</Vol>
                        <Val>50</Val>
                    </Faild>
                    <Ttl>
                        <Vol>20</Vol>
                        <Val>350</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>5.0000000000</VolPctg>
                    <Val>14.285710000</Val>
                </FaildRate>
            </Bd>
            <OthrTrfblScties>
                <Aggt>
                    <Sttld>
                        <Vol>600</Vol>
                        <Val>5000</Val>
                    </Sttld>
                    <Faild>
                        <Vol>15</Vol>
                        <Val>20</Val>
                    </Faild>
                    <Ttl>
                        <Vol>615</Vol>
                        <Val>5020</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>2.4390240000</VolPctg>
                    <Val>0.3984064000</Val>
                </FaildRate>
            </OthrTrfblScties>
            <XchgTradgFnds>
                <Aggt>
                    <Sttld>
                        <Vol>10</Vol>
                        <Val>125</Val>
                    </Sttld>
                    <Faild>
                        <Vol>1</Vol>
                        <Val>10</Val>
                    </Faild>
                    <Ttl>
                        <Vol>11</Vol>
                        <Val>135</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>9.0909090000</VolPctg>
                    <Val>7.4074070000</Val>
                </FaildRate>
            </XchgTradgFnds>
            <CllctvInvstmtUdrtkgs>
                <Aggt>
                    <Sttld>
                        <Vol>500</Vol>
                        <Val>1000</Val>
                    </Sttld>
                    <Faild>
                        <Vol>10</Vol>
                        <Val>200</Val>
                    </Faild>
                    <Ttl>
                        <Vol>510</Vol>
                        <Val>1200</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>1.9607840000</VolPctg>
                    <Val>16.666670000</Val>
                </FaildRate>
            </CllctvInvstmtUdrtkgs>
            <MnyMktInstrm>
                <Aggt>
                    <Sttld>
                        <Vol>40</Vol>
                        <Val>250</Val>
                    </Sttld>
                    <Faild>
                        <Vol>5</Vol>
                        <Val>20</Val>
                    </Faild>
                    <Ttl>
                        <Vol>45</Vol>
                        <Val>270</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>11.111110000</VolPctg>
                    <Val>7.4074070000</Val>
                </FaildRate>
            </MnyMktInstrm>
            <EmssnAllwnc>
                <Aggt>
                    <Sttld>
                        <Vol>1</Vol>
                        <Val>1500</Val>
                    </Sttld>
                    <Faild>
                        <Vol>9</Vol>
                        <Val>2000</Val>
                    </Faild>
                    <Ttl>
                        <Vol>10</Vol>
                        <Val>3500</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>90.000000000</VolPctg>
                    <Val>57.142860000</Val>
                </FaildRate>
            </EmssnAllwnc>
            <OthrFinInstrms>
                <Aggt>
                    <Sttld>
                        <Vol>0</Vol>
                        <Val>0</Val>
                    </Sttld>
                    <Faild>
                        <Vol>0</Vol>
                        <Val>0</Val>
                    </Faild>
                    <Ttl>
                        <Vol>0</Vol>
                        <Val>0</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>0.0000000000</VolPctg>
                    <Val>0.0000000000</Val>
                </FaildRate>
            </OthrFinInstrms>
        </FinInstrm>
        <TxTp>
            <SctiesBuyOrSell>
                <Aggt>
                    <Sttld>
                        <Vol>300</Vol>
                        <Val>1200</Val>
                    </Sttld>
                    <Faild>
                        <Vol>40</Vol>
                        <Val>50</Val>
                    </Faild>
                    <Ttl>
                        <Vol>340</Vol>
                        <Val>1250</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>11.764710000</VolPctg>
                    <Val>4.0000000000</Val>
                </FaildRate>
            </SctiesBuyOrSell>
            <CollMgmtOpr>
                <Aggt>
                    <Sttld>
                        <Vol>0</Vol>
                        <Val>0</Val>
                    </Sttld>
                    <Faild>
                        <Vol>0</Vol>
                        <Val>0</Val>
                    </Faild>
                    <Ttl>
                        <Vol>0</Vol>
                        <Val>0</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>0.0000000000</VolPctg>
                    <Val>0.0000000000</Val>
                </FaildRate>
            </CollMgmtOpr>
            <SctiesLndgOrBrrwg>
                <Aggt>
                    <Sttld>
                        <Vol>250</Vol>
                        <Val>750</Val>
                    </Sttld>
                    <Faild>
                        <Vol>250</Vol>
                        <Val>750</Val>
                    </Faild>
                    <Ttl>
                        <Vol>500</Vol>
                        <Val>1500</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>50.000000000</VolPctg>
                    <Val>50.000000000</Val>
                </FaildRate>
            </SctiesLndgOrBrrwg>
            <RpAgrmt>
                <Aggt>
                    <Sttld>
                        <Vol>10</Vol>
                        <Val>20</Val>
                    </Sttld>
                    <Faild>
                        <Vol>5</Vol>
                        <Val>10</Val>
                    </Faild>
                    <Ttl>
                        <Vol>15</Vol>
                        <Val>30</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>33.333330000</VolPctg>
                    <Val>33.333330000</Val>
                </FaildRate>
            </RpAgrmt>
            <OthrTxs>
                <Aggt>
                    <Sttld>
                        <Vol>4</Vol>
                        <Val>100</Val>
                    </Sttld>
                    <Faild>
                        <Vol>0</Vol>
                        <Val>0</Val>
                    </Faild>
                    <Ttl>
                        <Vol>4</Vol>
                        <Val>100</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>0.0000000000</VolPctg>
                    <Val>0.0000000000</Val>
                </FaildRate>
            </OthrTxs>
        </TxTp>
        <ClntTp>
            <Prfssnl>
                <Aggt>
                    <Sttld>
                        <Vol>0</Vol>
                        <Val>0</Val>
                    </Sttld>
                    <Faild>
                        <Vol>10</Vol>
                        <Val>100</Val>
                    </Faild>
                    <Ttl>
                        <Vol>10</Vol>
                        <Val>100</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>100.00000000</VolPctg>
                    <Val>100.00000000</Val>
                </FaildRate>
            </Prfssnl>
            <Rtl>
                <Aggt>
                    <Sttld>
                        <Vol>50</Vol>
                        <Val>1500</Val>
                    </Sttld>
                    <Faild>
                        <Vol>5</Vol>
                        <Val>100</Val>
                    </Faild>
                    <Ttl>
                        <Vol>55</Vol>
                        <Val>1600</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>9.0909090000</VolPctg>
                    <Val>6.2500000000</Val>
                </FaildRate>
            </Rtl>
        </ClntTp>
            <TtlCshTrf>
                <Aggt>
                    <Sttld>
                        <Vol>500</Vol>
                        <Val>1000</Val>
                    </Sttld>
                    <Faild>
                        <Vol>0</Vol>
                        <Val>0</Val>
                    </Faild>
                    <Ttl>
                        <Vol>500</Vol>
                        <Val>1000</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>0.0000000000</VolPctg>
                    <Val>0.0000000000</Val>
                </FaildRate>
            </TtlCshTrf>
    </IssrCSD>
    <IssrCSD>
        <Id>
            <LEI>O2RNV8IBXP4R0TD8XM41</LEI>
            <FrstTwoCharsISIN>DE</FrstTwoCharsISIN>
        </Id>
            <OvrllTtl>
                <Aggt>
                    <Sttld>
                        <Vol>3961</Vol>
                        <Val>17310</Val>
                    </Sttld>
                    <Faild>
                        <Vol>2513</Vol>
                        <Val>4870</Val>
                    </Faild>
                    <Ttl>
                        <Vol>6474</Vol>
                        <Val>22180</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>38.816810000</VolPctg>
                    <Val>21.956720000</Val>
                </FaildRate>
            </OvrllTtl>
        <FinInstrm>
            <Eqty>
                <Aggt>
                    <Sttld>
                        <Vol>150</Vol>
                        <Val>5935</Val>
                    </Sttld>
                    <Faild>
                        <Vol>137</Vol>
                        <Val>285</Val>
                    </Faild>
                    <Ttl>
                        <Vol>287</Vol>
                        <Val>6220</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>47.735190000</VolPctg>
                    <Val>4.5819940000</Val>
                </FaildRate>
            </Eqty>
            <SvrgnDebt>
                <Aggt>
                    <Sttld>
                        <Vol>137</Vol>
                        <Val>135</Val>
                    </Sttld>
                    <Faild>
                        <Vol>135</Vol>
                        <Val>85</Val>
                    </Faild>
                    <Ttl>
                        <Vol>272</Vol>
                        <Val>220</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>49.632350000</VolPctg>
                    <Val>38.636360000</Val>
                </FaildRate>
            </SvrgnDebt>
            <Bd>
                <Aggt>
                    <Sttld>
                        <Vol>154</Vol>
                        <Val>235</Val>
                    </Sttld>
                    <Faild>
                        <Vol>136</Vol>
                        <Val>135</Val>
                    </Faild>
                    <Ttl>
                        <Vol>290</Vol>
                        <Val>370</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>46.896550000</VolPctg>
                    <Val>36.486490000</Val>
                </FaildRate>
            </Bd>
            <OthrTrfblScties>
                <Aggt>
                    <Sttld>
                        <Vol>735</Vol>
                        <Val>4935</Val>
                    </Sttld>
                    <Faild>
                        <Vol>150</Vol>
                        <Val>105</Val>
                    </Faild>
                    <Ttl>
                        <Vol>885</Vol>
                        <Val>5040</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>16.949150000</VolPctg>
                    <Val>2.0833330000</Val>
                </FaildRate>
            </OthrTrfblScties>
            <XchgTradgFnds>
                <Aggt>
                    <Sttld>
                        <Vol>145</Vol>
                        <Val>60</Val>
                    </Sttld>
                    <Faild>
                        <Vol>136</Vol>
                        <Val>95</Val>
                    </Faild>
                    <Ttl>
                        <Vol>281</Vol>
                        <Val>155</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>48.398570000</VolPctg>
                    <Val>61.290320000</Val>
                </FaildRate>
            </XchgTradgFnds>
            <CllctvInvstmtUdrtkgs>
                <Aggt>
                    <Sttld>
                        <Vol>635</Vol>
                        <Val>935</Val>
                    </Sttld>
                    <Faild>
                        <Vol>145</Vol>
                        <Val>285</Val>
                    </Faild>
                    <Ttl>
                        <Vol>780</Vol>
                        <Val>1220</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>18.589740000</VolPctg>
                    <Val>23.360650000</Val>
                </FaildRate>
            </CllctvInvstmtUdrtkgs>
            <MnyMktInstrm>
                <Aggt>
                    <Sttld>
                        <Vol>175</Vol>
                        <Val>185</Val>
                    </Sttld>
                    <Faild>
                        <Vol>140</Vol>
                        <Val>105</Val>
                    </Faild>
                    <Ttl>
                        <Vol>315</Vol>
                        <Val>290</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>44.444440000</VolPctg>
                    <Val>36.206900000</Val>
                </FaildRate>
            </MnyMktInstrm>
            <EmssnAllwnc>
                <Aggt>
                    <Sttld>
                        <Vol>136</Vol>
                        <Val>1435</Val>
                    </Sttld>
                    <Faild>
                        <Vol>144</Vol>
                        <Val>2085</Val>
                    </Faild>
                    <Ttl>
                        <Vol>280</Vol>
                        <Val>3520</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>51.428570000</VolPctg>
                    <Val>59.232960000</Val>
                </FaildRate>
            </EmssnAllwnc>
            <OthrFinInstrms>
                <Aggt>
                    <Sttld>
                        <Vol>135</Vol>
                        <Val>10</Val>
                    </Sttld>
                    <Faild>
                        <Vol>135</Vol>
                        <Val>85</Val>
                    </Faild>
                    <Ttl>
                        <Vol>270</Vol>
                        <Val>95</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>50.000000000</VolPctg>
                    <Val>89.473690000</Val>
                </FaildRate>
            </OthrFinInstrms>
        </FinInstrm>
        <TxTp>
            <SctiesBuyOrSell>
                <Aggt>
                    <Sttld>
                        <Vol>435</Vol>
                        <Val>1135</Val>
                    </Sttld>
                    <Faild>
                        <Vol>175</Vol>
                        <Val>135</Val>
                    </Faild>
                    <Ttl>
                        <Vol>610</Vol>
                        <Val>1270</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>28.688520000</VolPctg>
                    <Val>10.629920000</Val>
                </FaildRate>
            </SctiesBuyOrSell>
            <CollMgmtOpr>
                <Aggt>
                    <Sttld>
                        <Vol>135</Vol>
                        <Val>35</Val>
                    </Sttld>
                    <Faild>
                        <Vol>135</Vol>
                        <Val>85</Val>
                    </Faild>
                    <Ttl>
                        <Vol>270</Vol>
                        <Val>120</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>50.000000000</VolPctg>
                    <Val>70.833340000</Val>
                </FaildRate>
            </CollMgmtOpr>
            <SctiesLndgOrBrrwg>
                <Aggt>
                    <Sttld>
                        <Vol>385</Vol>
                        <Val>685</Val>
                    </Sttld>
                    <Faild>
                        <Vol>385</Vol>
                        <Val>835</Val>
                    </Faild>
                    <Ttl>
                        <Vol>770</Vol>
                        <Val>1520</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>50.000000000</VolPctg>
                    <Val>54.934210000</Val>
                </FaildRate>
            </SctiesLndgOrBrrwg>
            <RpAgrmt>
                <Aggt>
                    <Sttld>
                        <Vol>145</Vol>
                        <Val>20</Val>
                    </Sttld>
                    <Faild>
                        <Vol>140</Vol>
                        <Val>95</Val>
                    </Faild>
                    <Ttl>
                        <Vol>285</Vol>
                        <Val>115</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>49.122810000</VolPctg>
                    <Val>82.608700000</Val>
                </FaildRate>
            </RpAgrmt>
            <OthrTxs>
                <Aggt>
                    <Sttld>
                        <Vol>139</Vol>
                        <Val>35</Val>
                    </Sttld>
                    <Faild>
                        <Vol>135</Vol>
                        <Val>85</Val>
                    </Faild>
                    <Ttl>
                        <Vol>274</Vol>
                        <Val>120</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>49.270070000</VolPctg>
                    <Val>70.833340000</Val>
                </FaildRate>
            </OthrTxs>
        </TxTp>
        <ClntTp>
            <Prfssnl>
                <Aggt>
                    <Sttld>
                        <Vol>135</Vol>
                        <Val>100</Val>
                    </Sttld>
                    <Faild>
                        <Vol>145</Vol>
                        <Val>185</Val>
                    </Faild>
                    <Ttl>
                        <Vol>280</Vol>
                        <Val>285</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>51.785710000</VolPctg>
                    <Val>64.912280000</Val>
                </FaildRate>
            </Prfssnl>
            <Rtl>
                <Aggt>
                    <Sttld>
                        <Vol>185</Vol>
                        <Val>1435</Val>
                    </Sttld>
                    <Faild>
                        <Vol>140</Vol>
                        <Val>185</Val>
                    </Faild>
                    <Ttl>
                        <Vol>325</Vol>
                        <Val>1620</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>43.076920000</VolPctg>
                    <Val>11.419750000</Val>
                </FaildRate>
            </Rtl>
        </ClntTp>
            <TtlCshTrf>
                <Aggt>
                    <Sttld>
                        <Vol>635</Vol>
                        <Val>935</Val>
                    </Sttld>
                    <Faild>
                        <Vol>135</Vol>
                        <Val>85</Val>
                    </Faild>
                    <Ttl>
                        <Vol>770</Vol>
                        <Val>1020</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>17.532470000</VolPctg>
                    <Val>8.3333330000</Val>
                </FaildRate>
            </TtlCshTrf>
    </IssrCSD>
    <IssrCSD>
        <Id>
            <LEI>O2ANE8IBXP4R0TD8XM41</LEI>
            <FrstTwoCharsISIN>XS</FrstTwoCharsISIN>
            <Ctry>LU</Ctry>
        </Id>
            <OvrllTtl>
                <Aggt>
                    <Sttld>
                        <Vol>5452</Vol>
                        <Val>109581</Val>
                    </Sttld>
                    <Faild>
                        <Vol>366</Vol>
                        <Val>4617</Val>
                    </Faild>
                    <Ttl>
                        <Vol>5818</Vol>
                        <Val>114198</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>6.2908220000</VolPctg>
                    <Val>4.0429780000</Val>
                </FaildRate>
            </OvrllTtl>
        <FinInstrm>
            <Eqty>
                <Aggt>
                    <Sttld>
                        <Vol>504</Vol>
                        <Val>7004</Val>
                    </Sttld>
                    <Faild>
                        <Vol>16</Vol>
                        <Val>299</Val>
                    </Faild>
                    <Ttl>
                        <Vol>520</Vol>
                        <Val>7303</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>3.0769230000</VolPctg>
                    <Val>4.0942080000</Val>
                </FaildRate>
            </Eqty>
            <SvrgnDebt>
                <Aggt>
                    <Sttld>
                        <Vol>204</Vol>
                        <Val>6206</Val>
                    </Sttld>
                    <Faild>
                        <Vol>20</Vol>
                        <Val>266</Val>
                    </Faild>
                    <Ttl>
                        <Vol>224</Vol>
                        <Val>6472</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>8.9285720000</VolPctg>
                    <Val>4.1100130000</Val>
                </FaildRate>
            </SvrgnDebt>
            <Bd>
                <Aggt>
                    <Sttld>
                        <Vol>383</Vol>
                        <Val>6705</Val>
                    </Sttld>
                    <Faild>
                        <Vol>16</Vol>
                        <Val>282</Val>
                    </Faild>
                    <Ttl>
                        <Vol>399</Vol>
                        <Val>6987</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>4.0100250000</VolPctg>
                    <Val>4.0360670000</Val>
                </FaildRate>
            </Bd>
            <OthrTrfblScties>
                <Aggt>
                    <Sttld>
                        <Vol>282</Vol>
                        <Val>6358</Val>
                    </Sttld>
                    <Faild>
                        <Vol>34</Vol>
                        <Val>263</Val>
                    </Faild>
                    <Ttl>
                        <Vol>316</Vol>
                        <Val>6621</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>10.759490000</VolPctg>
                    <Val>3.9722100000</Val>
                </FaildRate>
            </OthrTrfblScties>
            <XchgTradgFnds>
                <Aggt>
                    <Sttld>
                        <Vol>407</Vol>
                        <Val>6835</Val>
                    </Sttld>
                    <Faild>
                        <Vol>20</Vol>
                        <Val>281</Val>
                    </Faild>
                    <Ttl>
                        <Vol>427</Vol>
                        <Val>7116</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>4.6838410000</VolPctg>
                    <Val>3.9488480000</Val>
                </FaildRate>
            </XchgTradgFnds>
            <CllctvInvstmtUdrtkgs>
                <Aggt>
                    <Sttld>
                        <Vol>282</Vol>
                        <Val>7168</Val>
                    </Sttld>
                    <Faild>
                        <Vol>14</Vol>
                        <Val>313</Val>
                    </Faild>
                    <Ttl>
                        <Vol>296</Vol>
                        <Val>7481</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>4.7297300000</VolPctg>
                    <Val>4.1839330000</Val>
                </FaildRate>
            </CllctvInvstmtUdrtkgs>
            <MnyMktInstrm>
                <Aggt>
                    <Sttld>
                        <Vol>383</Vol>
                        <Val>7320</Val>
                    </Sttld>
                    <Faild>
                        <Vol>28</Vol>
                        <Val>256</Val>
                    </Faild>
                    <Ttl>
                        <Vol>411</Vol>
                        <Val>7576</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>6.8126520000</VolPctg>
                    <Val>3.3790920000</Val>
                </FaildRate>
            </MnyMktInstrm>
            <EmssnAllwnc>
                <Aggt>
                    <Sttld>
                        <Vol>488</Vol>
                        <Val>6652</Val>
                    </Sttld>
                    <Faild>
                        <Vol>21</Vol>
                        <Val>276</Val>
                    </Faild>
                    <Ttl>
                        <Vol>509</Vol>
                        <Val>6928</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>4.1257370000</VolPctg>
                    <Val>3.9838340000</Val>
                </FaildRate>
            </EmssnAllwnc>
            <OthrFinInstrms>
                <Aggt>
                    <Sttld>
                        <Vol>345</Vol>
                        <Val>7453</Val>
                    </Sttld>
                    <Faild>
                        <Vol>14</Vol>
                        <Val>252</Val>
                    </Faild>
                    <Ttl>
                        <Vol>359</Vol>
                        <Val>7705</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>3.8997210000</VolPctg>
                    <Val>3.2706030000</Val>
                </FaildRate>
            </OthrFinInstrms>
        </FinInstrm>
        <TxTp>
            <SctiesBuyOrSell>
                <Aggt>
                    <Sttld>
                        <Vol>441</Vol>
                        <Val>6802</Val>
                    </Sttld>
                    <Faild>
                        <Vol>18</Vol>
                        <Val>327</Val>
                    </Faild>
                    <Ttl>
                        <Vol>459</Vol>
                        <Val>7129</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>3.9215690000</VolPctg>
                    <Val>4.5868990000</Val>
                </FaildRate>
            </SctiesBuyOrSell>
            <CollMgmtOpr>
                <Aggt>
                    <Sttld>
                        <Vol>128</Vol>
                        <Val>6726</Val>
                    </Sttld>
                    <Faild>
                        <Vol>30</Vol>
                        <Val>297</Val>
                    </Faild>
                    <Ttl>
                        <Vol>158</Vol>
                        <Val>7023</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>18.987340000</VolPctg>
                    <Val>4.2289620000</Val>
                </FaildRate>
            </CollMgmtOpr>
            <SctiesLndgOrBrrwg>
                <Aggt>
                    <Sttld>
                        <Vol>353</Vol>
                        <Val>7457</Val>
                    </Sttld>
                    <Faild>
                        <Vol>33</Vol>
                        <Val>350</Val>
                    </Faild>
                    <Ttl>
                        <Vol>386</Vol>
                        <Val>7807</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>8.5492230000</VolPctg>
                    <Val>4.4831560000</Val>
                </FaildRate>
            </SctiesLndgOrBrrwg>
            <RpAgrmt>
                <Aggt>
                    <Sttld>
                        <Vol>150</Vol>
                        <Val>6703</Val>
                    </Sttld>
                    <Faild>
                        <Vol>28</Vol>
                        <Val>336</Val>
                    </Faild>
                    <Ttl>
                        <Vol>178</Vol>
                        <Val>7039</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>15.730340000</VolPctg>
                    <Val>4.7734050000</Val>
                </FaildRate>
            </RpAgrmt>
            <OthrTxs>
                <Aggt>
                    <Sttld>
                        <Vol>205</Vol>
                        <Val>7118</Val>
                    </Sttld>
                    <Faild>
                        <Vol>25</Vol>
                        <Val>264</Val>
                    </Faild>
                    <Ttl>
                        <Vol>230</Vol>
                        <Val>7382</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>10.869570000</VolPctg>
                    <Val>3.5762670000</Val>
                </FaildRate>
            </OthrTxs>
        </TxTp>
        <ClntTp>
            <Prfssnl>
                <Aggt>
                    <Sttld>
                        <Vol>441</Vol>
                        <Val>6357</Val>
                    </Sttld>
                    <Faild>
                        <Vol>25</Vol>
                        <Val>284</Val>
                    </Faild>
                    <Ttl>
                        <Vol>466</Vol>
                        <Val>6641</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>5.3648070000</VolPctg>
                    <Val>4.2764640000</Val>
                </FaildRate>
            </Prfssnl>
            <Rtl>
                <Aggt>
                    <Sttld>
                        <Vol>456</Vol>
                        <Val>6717</Val>
                    </Sttld>
                    <Faild>
                        <Vol>24</Vol>
                        <Val>271</Val>
                    </Faild>
                    <Ttl>
                        <Vol>480</Vol>
                        <Val>6988</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>5.0000000000</VolPctg>
                    <Val>3.8780770000</Val>
                </FaildRate>
            </Rtl>
        </ClntTp>
            <TtlCshTrf>
                <Aggt>
                    <Sttld>
                        <Vol>212</Vol>
                        <Val>6249</Val>
                    </Sttld>
                    <Faild>
                        <Vol>14</Vol>
                        <Val>306</Val>
                    </Faild>
                    <Ttl>
                        <Vol>226</Vol>
                        <Val>6555</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>6.1946900000</VolPctg>
                    <Val>4.6681920000</Val>
                </FaildRate>
            </TtlCshTrf>
    </IssrCSD>
    <IssrCSD>
        <Id>
            <FrstTwoCharsISIN>EU</FrstTwoCharsISIN>
            <Ctry>DE</Ctry>
        </Id>
            <OvrllTtl>
                <Aggt>
                    <Sttld>
                        <Vol>5303</Vol>
                        <Val>108429</Val>
                    </Sttld>
                    <Faild>
                        <Vol>386</Vol>
                        <Val>4796</Val>
                    </Faild>
                    <Ttl>
                        <Vol>5689</Vol>
                        <Val>113225</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>6.7850240000</VolPctg>
                    <Val>4.2358140000</Val>
                </FaildRate>
            </OvrllTtl>
        <FinInstrm>
            <Eqty>
                <Aggt>
                    <Sttld>
                        <Vol>149</Vol>
                        <Val>7244</Val>
                    </Sttld>
                    <Faild>
                        <Vol>37</Vol>
                        <Val>324</Val>
                    </Faild>
                    <Ttl>
                        <Vol>186</Vol>
                        <Val>7568</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>19.892470000</VolPctg>
                    <Val>4.2811840000</Val>
                </FaildRate>
            </Eqty>
            <SvrgnDebt>
                <Aggt>
                    <Sttld>
                        <Vol>380</Vol>
                        <Val>6392</Val>
                    </Sttld>
                    <Faild>
                        <Vol>27</Vol>
                        <Val>286</Val>
                    </Faild>
                    <Ttl>
                        <Vol>407</Vol>
                        <Val>6678</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>6.6339070000</VolPctg>
                    <Val>4.2827200000</Val>
                </FaildRate>
            </SvrgnDebt>
            <Bd>
                <Aggt>
                    <Sttld>
                        <Vol>386</Vol>
                        <Val>6966</Val>
                    </Sttld>
                    <Faild>
                        <Vol>15</Vol>
                        <Val>313</Val>
                    </Faild>
                    <Ttl>
                        <Vol>401</Vol>
                        <Val>7279</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>3.7406480000</VolPctg>
                    <Val>4.3000410000</Val>
                </FaildRate>
            </Bd>
            <OthrTrfblScties>
                <Aggt>
                    <Sttld>
                        <Vol>212</Vol>
                        <Val>7021</Val>
                    </Sttld>
                    <Faild>
                        <Vol>32</Vol>
                        <Val>258</Val>
                    </Faild>
                    <Ttl>
                        <Vol>244</Vol>
                        <Val>7279</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>13.114750000</VolPctg>
                    <Val>3.5444430000</Val>
                </FaildRate>
            </OthrTrfblScties>
            <XchgTradgFnds>
                <Aggt>
                    <Sttld>
                        <Vol>498</Vol>
                        <Val>6570</Val>
                    </Sttld>
                    <Faild>
                        <Vol>16</Vol>
                        <Val>301</Val>
                    </Faild>
                    <Ttl>
                        <Vol>514</Vol>
                        <Val>6871</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>3.1128400000</VolPctg>
                    <Val>4.3807310000</Val>
                </FaildRate>
            </XchgTradgFnds>
            <CllctvInvstmtUdrtkgs>
                <Aggt>
                    <Sttld>
                        <Vol>195</Vol>
                        <Val>7225</Val>
                    </Sttld>
                    <Faild>
                        <Vol>32</Vol>
                        <Val>303</Val>
                    </Faild>
                    <Ttl>
                        <Vol>227</Vol>
                        <Val>7528</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>14.096920000</VolPctg>
                    <Val>4.0249730000</Val>
                </FaildRate>
            </CllctvInvstmtUdrtkgs>
            <MnyMktInstrm>
                <Aggt>
                    <Sttld>
                        <Vol>338</Vol>
                        <Val>6827</Val>
                    </Sttld>
                    <Faild>
                        <Vol>27</Vol>
                        <Val>290</Val>
                    </Faild>
                    <Ttl>
                        <Vol>365</Vol>
                        <Val>7117</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>7.3972600000</VolPctg>
                    <Val>4.0747500000</Val>
                </FaildRate>
            </MnyMktInstrm>
            <EmssnAllwnc>
                <Aggt>
                    <Sttld>
                        <Vol>508</Vol>
                        <Val>6859</Val>
                    </Sttld>
                    <Faild>
                        <Vol>30</Vol>
                        <Val>328</Val>
                    </Faild>
                    <Ttl>
                        <Vol>538</Vol>
                        <Val>7187</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>5.5762080000</VolPctg>
                    <Val>4.5637960000</Val>
                </FaildRate>
            </EmssnAllwnc>
            <OthrFinInstrms>
                <Aggt>
                    <Sttld>
                        <Vol>374</Vol>
                        <Val>7065</Val>
                    </Sttld>
                    <Faild>
                        <Vol>19</Vol>
                        <Val>331</Val>
                    </Faild>
                    <Ttl>
                        <Vol>393</Vol>
                        <Val>7396</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>4.8346060000</VolPctg>
                    <Val>4.4753920000</Val>
                </FaildRate>
            </OthrFinInstrms>
        </FinInstrm>
        <TxTp>
            <SctiesBuyOrSell>
                <Aggt>
                    <Sttld>
                        <Vol>173</Vol>
                        <Val>7200</Val>
                    </Sttld>
                    <Faild>
                        <Vol>24</Vol>
                        <Val>275</Val>
                    </Faild>
                    <Ttl>
                        <Vol>197</Vol>
                        <Val>7475</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>12.182740000</VolPctg>
                    <Val>3.6789300000</Val>
                </FaildRate>
            </SctiesBuyOrSell>
            <CollMgmtOpr>
                <Aggt>
                    <Sttld>
                        <Vol>118</Vol>
                        <Val>6524</Val>
                    </Sttld>
                    <Faild>
                        <Vol>33</Vol>
                        <Val>275</Val>
                    </Faild>
                    <Ttl>
                        <Vol>151</Vol>
                        <Val>6799</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>21.854310000</VolPctg>
                    <Val>4.0447130000</Val>
                </FaildRate>
            </CollMgmtOpr>
            <SctiesLndgOrBrrwg>
                <Aggt>
                    <Sttld>
                        <Vol>337</Vol>
                        <Val>6220</Val>
                    </Sttld>
                    <Faild>
                        <Vol>22</Vol>
                        <Val>274</Val>
                    </Faild>
                    <Ttl>
                        <Vol>359</Vol>
                        <Val>6494</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>6.1281340000</VolPctg>
                    <Val>4.2192790000</Val>
                </FaildRate>
            </SctiesLndgOrBrrwg>
            <RpAgrmt>
                <Aggt>
                    <Sttld>
                        <Vol>471</Vol>
                        <Val>6541</Val>
                    </Sttld>
                    <Faild>
                        <Vol>22</Vol>
                        <Val>332</Val>
                    </Faild>
                    <Ttl>
                        <Vol>493</Vol>
                        <Val>6873</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>4.4624750000</VolPctg>
                    <Val>4.8304960000</Val>
                </FaildRate>
            </RpAgrmt>
            <OthrTxs>
                <Aggt>
                    <Sttld>
                        <Vol>426</Vol>
                        <Val>6312</Val>
                    </Sttld>
                    <Faild>
                        <Vol>18</Vol>
                        <Val>317</Val>
                    </Faild>
                    <Ttl>
                        <Vol>444</Vol>
                        <Val>6629</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>4.0540540000</VolPctg>
                    <Val>4.7820180000</Val>
                </FaildRate>
            </OthrTxs>
        </TxTp>
        <ClntTp>
            <Prfssnl>
                <Aggt>
                    <Sttld>
                        <Vol>313</Vol>
                        <Val>6434</Val>
                    </Sttld>
                    <Faild>
                        <Vol>20</Vol>
                        <Val>296</Val>
                    </Faild>
                    <Ttl>
                        <Vol>333</Vol>
                        <Val>6730</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>6.0060060000</VolPctg>
                    <Val>4.3982170000</Val>
                </FaildRate>
            </Prfssnl>
            <Rtl>
                <Aggt>
                    <Sttld>
                        <Vol>425</Vol>
                        <Val>7029</Val>
                    </Sttld>
                    <Faild>
                        <Vol>12</Vol>
                        <Val>293</Val>
                    </Faild>
                    <Ttl>
                        <Vol>437</Vol>
                        <Val>7322</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>2.7459960000</VolPctg>
                    <Val>4.0016390000</Val>
                </FaildRate>
            </Rtl>
        </ClntTp>
            <TtlCshTrf>
                <Aggt>
                    <Sttld>
                        <Vol>397</Vol>
                        <Val>6725</Val>
                    </Sttld>
                    <Faild>
                        <Vol>26</Vol>
                        <Val>250</Val>
                    </Faild>
                    <Ttl>
                        <Vol>423</Vol>
                        <Val>6975</Val>
                    </Ttl>
                </Aggt>
                <FaildRate>
                    <VolPctg>6.1465720000</VolPctg>
                    <Val>3.5842290000</Val>
                </FaildRate>
            </TtlCshTrf>
    </IssrCSD>
</SttlmIntlrRpt>
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